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Topic:- Agriculture I

1) If cos (A —B)= V3/2 and cosec (A + B)=2/vV3, find the value of tan A tan B? /
If& cos (A — B)= V3/2 3iiX cosec (A + B)=2/V3, @ tan A tan B &I HIT AT FI?

1.1

2.2-V3

3.3

4,32

Correct Answer :-

. 243

2) Which of the following two families dominate in having maximum useful plants? /
Rrfafle # & # § a gal & sfrwas dar # swRh o §

1. Fabaceae and Poaceae / Hhadl (Hardl) 3R qiodr

2. Liliaceae and Solanaceae / folfergdl 31K et

3. Liliaceae and Poaceae / forferay 31 groddr

4. Malvaceae and Brassicaceae / HTrd@r 3T Sf8eRaT

Correct Answer :-

. Fabaceae and Poaceac / el (HaTdl) 3R Grodr

3) Atlas 66 variety of wheat was developed for: /

ﬂ{ﬁ%mmssﬁﬁm%ﬁvﬁmﬁmwm
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2. High protein content / 3T HIciel 3aad
3. Vitamin C / Tderf@= C
4, Scented grains / Qfl)?Tﬁlef 3Tt

Correct Answer :-

« High protein content / 3Td el 3aad

4) Primary carboxylation occurs in C3 and C4 plants with the help of: /
wafAF FEifFaea c; 3t ¢, dlul & @ fr Agg ¥ aka gar &

1. RUBP carboxylase and pyruvate carboxylase / m;«ﬁtﬁ Praiforderal 3T qISHdc
et Fdoersl

2. RUBP carboxylase and PEP carboxylase / m@ﬁ Fraiderst 31T "-ﬁé'cﬁ CaCIIERCK )
3. PEP carboxylase and RUBP carboxylase / WSUT shrsifferdelol 3 IRIEUT hraifferdelrst
4. PEP carboxylase and pyruvate carboxylase / dSqr FEiFdersl 3R USEde FEiFadciol

Correct Answer :-

« RUBP carboxylase and PEP carboxylase / m@tﬁ HIeifrderel 3T cﬁéti’r EACHERCE

5) In germinating seeds, fatty acids are degraded exclusively in the A
e diet &, & vRs # Ry W @ # Rrsfiga R s 3
1. protoplastid / JIeICaTEes

2. mitochondria / FTSCIPI=gAT

3. glyoxysomes / Eﬂﬁﬁm

4, peroxisomes / QUL

Correct Answer :-

« glyoxysomes / Wﬁﬁ?\tﬁ'\mﬁ

6) In order to stop a car in shortest distance on a horizontal road, one should .
TF Sifas WsF W 7 ¥ 4 gt # F &R F AFa & fag, fnddt a7

1. apply brakes hard enough to just prevent slipping /
Thel H Te1 & [T DL §eh I 9T AT
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HHAT S SNl MY dlfeh IigT gUled iell &g &Y G
3. shut off the engine and not apply brakes /

$olel &I d¢ T & 3N s o of@ny|
4, press and release the brakes /

s I @MU IR B &
Correct Answer :-

« apply brakes hard enough to just prevent slipping /
el H §e1 & ToIT SHHPY b &l @Ml AT

7) Newton’s law of cooling is valid for: /

e #1 et F1 e suF v dv g &
1. High temperature / 3= dT9YHTT

2. Large temperature difference / 8T cTUATT 3R
3. Small temperature difference / BT AT 3R

4. Low temperature / fald=T aTq&TeT

Correct Answer :-

« Small temperature difference / BT dTUHTT Hcd

8) Which hydrocarbon is mainly present in gobar gas? /
FIT-AT FRIFET HET T ¥ MY 3w & sufeya giar 872
1. Butane / a{a?r

2. Propane / UIdsT

3. Methane / AU

4. Ethane / TV

Correct Answer :-

e Methane / AT

9) Which among the following is the unit of power? /
Prfaf@a # ¥ sla-d@r aFa i 75 T
1. Ampere / TFIRIT
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3. Volt/ dleC

4, Watt / @ic

Correct Answer :-

o Watt/dlc

10) Which among the following statements is TRUE regarding Electrostatic lines of force? /
To & fRdegfady Y@t F a F Gl F ¥ sla-ar Fy7 w7 B2

1. Electrostatic lines of force are continuous curves in an electric field starting from a negatively charged
body and ending on a positively charged body. /

gof I RRdcfcrh W, U faegd &iF # FAdhRicH® AR @ & g% gl TR
mwgﬁwmquﬁaﬁwdﬁ%l

2. Electrostatic lines of force intersect each other. /
ol &1 TRRASZIhT YWV Teh-gar T Fideaied i &

3. Electrostatic lines of force are non continuous curves in an electric field starting from a negatively charged

body and ending on a positively charged body. /

ol 1 EeRdegfaer @i, v fdega &l # dsRicAs AR W & g% ga 3K
ﬁwaﬂ?ﬁ@?ﬁésﬁtwyﬁﬂaﬁaﬂﬁwsﬁ%l

4. Electrostatic lines of force are continuous curves in an electric field starting from a positively charged body
and ending on a negatively charged body. /

el & R chT @Y, Teh Tdegd alF & HehRicHsh A fRId @ & Y& git [T gt @
?ﬁmm (I & AT glal &

Correct Answer :-

« Electrostatic lines of force are continuous curves in an electric field starting from a positively charged
body and ending on a negatively charged body. /

ol & R AT 1@, veh faegd &lF & HehRIcHe AR @ & Y& glert faca? gl g
& 3R FARRIcHS AR fAra & FATCd gl 5

11) Which one of the following vitamin contains a metal atom? /
frafafea & & frw fafaa & & g ey g @2

1. Vitamin B¢/ TaeiffAe By

2. Vitamin A / faerf@st A

3. Vitamin B, / f@e1f&=1 B,

4. Vitamin Byy/ fderf@sT By,
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e Vitamin Byy/ faerf®eT By,

12) Glucose and fructose are converted into ethanol in the presence of ./

TS AR HES Y  sufeufa & gdata & gRafda fFar smar ¥

1. zymase / STSHA

2. invertase / SAGCH
3. lipids / ferfag

4. diastase / STAECH

Correct Answer :-

o zymase / JSHA

13) Heat capacity of water during melting is: /

Ruerr & gk ster 1 FvaT e gl ¥
1. One /Ueh

2. Zero / e

3. Infinity / 37Tl

4. Insufficient data / 379ITC 3T

Correct Answer :-

o Infinity / 37Tl

14) 5.6g of an organic compound on burning with excess of oxygen gave 17.6 g of CO, and 7.2 g of
H,0. The organic compound is: /

st S 3RFar & ' 5.6 WM FEfAF ANF F g8 |W 17.6 AH CO, 317 7.29 H,0 &
Ffeh dfF &

1. C¢Hg

2. C¢H40

3. C5Hg

4. C4Hg

Correct Answer :-

° C4H8
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15) Soft soaps contain: / 7g A (Hive H) & &
1. Calcium salt / SHTeRIe oIqoT

2. Potassium salt / GICTIIHA qoT

3. Sodium salt / HSIH SqoT

4, Magnesium salt / HINTATH 0T

Correct Answer :-

o Potassium salt / IA—IH FTgoT

16) The normal atmospheric pressure is: /

WA IIGHAST AT gl o
1. 76 m of Hg

2.76 cm of Hg
3. 76 N/m?

4.76 Pa

Correct Answer :-

e 76 cm of Hg

17) The unit of relative density is: /
ABF Teieq T 31 §:

1. No unit / 1S SHIS Tal

2. m/kg

3. kg/m®

4. g/cm3

Correct Answer :-

. Nounit/aﬂé' %Iéf Tl

18) The velocity acquired by a body falling freely from rest is: /
faue & FaaT w7 ¥ e o o ey qanr sifor a9 §:
1. Inversely proportional to the time of its fall. /

gqh fIRa & TAT & SGcshAIIICT |
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5% RS & FAT & ol & GeshATIIC|
3. Directly proportional to the square of the time of its fall. /

g TRl & FAT & a9 & Y T

4. Directly proportional to the time of its fall. /
g TRl & FAT & e 3gdTicrn|

Correct Answer :-

o Directly proportional to the time of its fall. /

3T IR & AT & WY AUTicn|

19) The reaction between alkali and fat is called : /&R 3R Far & T i IATFAT Fr Fer s@T T

1. Hydrolysis / STl-3TT€CsT (gTS3ITel 1414)
2. Saponification / F@?—ﬁWUT GEIGIEETE)

3. Distillation / 3THdeT (T3¥cerere)

4. Dehydration / foisTellanioT (TSETS3T)

Correct Answer :-

« Saponification / FWT GEIGIEETE)

20) The time period of a simple pendulum is: /

T& I dldd $H FAIEE gl &

1. Inversely proportional to the value of g at a place. /

el T W g & A & FesheAedIC|

2. Inversely proportional to the square root of the value of g at a place. /

fehell T T g & AT & qIHel & GeshATACH |
3. Directly proportional to the cube root of the value of g at a place. /
Tl TUTT T g o AT o TeTefel & AL TR |

4, Directly proportional to the square root of the value of g at a place. /

forell Tt 9T g & AT & e & WY 3guricie |

Correct Answer :-

« Inversely proportional to the square root of the value of g at a place. /
TRl TUTeT IX g & AT & FIHSA & SGcshATaTcH |




THdeayEl (AAeieE) A, gar FREr @
1. spherical / 3ITTel=T

2. reniform / gerehTehT

3. isodiametric / HHSIATHIT

4. dumbbell shaped / ¥l TR

Correct Answer :-

. dumbbell shaped / SFIST TR

22) Parthenocarpic fruit CANNOT be produced by the application of: /
NSAFIF Gl FT 3cUTGe fAeeT & TANT GaART Agl AT ST FHaT &
1.2,4-D

2. ABA

3. IBA

4. 1AA

Correct Answer :-

« ABA

23) Thin-walled large cells present on the upper leaf epidermis that are capable of
contraction and expansion are: /

Yol & F TR w AlSg gael AT arell 99 IR St w5 i
feaia g & gar g &

1. Guard cells / T&Teh HITRABIT

2. Subsidiary cells / TgTIH PITARIT
3. Bulliform cells / 3T caereni{RIshT
4. Gland cells / X RITAHRIT

Correct Answer :-

« Bulliform cells / 37TdeT caerehITRIRT

24) Cruciform corolla are found in: /
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1.Pea /| AX

2. China Rose / AT3aAT ot
3. Radish / ﬂc\ﬁf

4, Sunflower / W@'

Correct Answer :-

« Radish / #ell

25) Under unfavourable conditions, many zooplanktons enter a stage of suspended
development called .

yfaser oyl & e, § woiicaas Adla e F e wor & yaer s
g e §1

1. Tor por / AR 9K

2. Hibernation / afTSshaar

3. Diapause / 39T

4. Quiescence / 9eId

Correct Answer :-

. Diapause / 3R

26) Blue-coloured dye yielding plant of Fabaceae is: /
T w1 Ao ST € 3 arar ol &
1. Indigofera / S-St

2. Trifolium / TISHITIIE
3. Lupin / wjﬁ?r

4. Cassia / hiqT

Correct Answer :-

« Indigofera / SfesaNthl

27) Which of the following does not happen during glycolysis? /

TAERRRT ¥ e BT & @ Fa7 g @ar ¥
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2. Dehydrogenation / TagTSgIstetet
3. Photophosphorylation / HICIBIEHIT T

4, Isomerisation / HATIIdA

Correct Answer :-

« Photophosphorylation / BICTHIEHIR I

28) Which of the following is NOT an Indian variety of bee? /
Praafea & & Sla-dl T R e B A ad
1. Apis mellifera / Sf9% fAfIONT

2. Apis indica / Of9w 3fr5aT

3. Apis florae / oo weriRar

4. Apis dorsata / 0o sider

Correct Answer :-

« Apis mellifera / OfQ& fAferoRT

29) Quiescent centre is located in: /

UeId $g (FasWic deX) Jgr foud g &
1. Shoot apex / WRig ¥

2. Root apex / Hel oy

3. Bud apex / fcrepr iy

4. Leaf apex / eal oY

Correct Answer :-

« Root apex / Hel oy

30) Casparian thickening occurs in the cells of: /
e Tyee fara i FIf¥eET 7 g
1. Pericycle of root / #Hel @l IECE ]

2. Pericycle of stem / eIl &I IRIST
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4. Endodermis of root / Hel &1 AaTH

Correct Answer :-

« Endodermis of root / el ol aTH

31) The number of stamens in the family of Asteraceae is: /
R F A GHAT hr HEAT gl B

1.3

2. 10

3.7

4.5

Correct Answer :-

32) The genotype of hybrid is known by crossing: /

FHT (FET9E) F1 Sielegy @Fa & FHI0T a1 =T ST &
1. F, with recessive parent / 3TIHTAT Slelsh & F2

2. F| with recessive parent / 3YHTAT Sledeh & F,

3.F1xF

4. F, progeny with female parent / #FIGT Sieleh & F2 Tcllel

Correct Answer :-

« F| with recessive parent / 3I9HTAN STTeh & F,

33) The pair of spiracles present on a grasshopper are: /

33 o YRy @MY (FUSFew) & IIA B 8
1. 15
2. 10
3.5

4. 20

Correct Answer :-
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34) The rate of transpiration is measured by: /
arsAicHsie #Y &F fAFT garr A e #
1. Respirometer / RTHAATIT (IFARRIHIC)

2. Porometer / GIRIHTCT

3. Auxanometer / aﬁr AT (3iFaIFHR)

4. Ganong’s potometer / JMAIIT HI YICTHIEI

Correct Answer :-

« Ganong’s potometer / AT T dIeiHel

35) In Cucurbits, hypodermis is formed of: /
FHtiael #, srereTsd sHAT T g §

1. Collenchyma / 2oiSIde

2. Sclerenchyma / TGl

3. Aerenchyma / dlfch

4. Parenchyma / #Hgdeh

Correct Answer :-

. Collenchyma / 2elSIde®

36) A diploid female plant and a tetraploid male plant are crossed. The ploidy of endosperm
shall be: /

TS gfaTiora Arer it iR e IO A7 dtr EhRd FIRT STAT §1 $oray
OTe g

1. Pentaploid / EEI'{[@?—T
2. Tetraploid / ﬂ@ﬂﬁﬂ'
3. Diploid / GfaToreT
4. Triploid / T3AfoTe

Correct Answer :-

« Tetraploid / ﬂ?:lfi‘ﬁﬁ?l’
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37) Laccifer lacca belongs to the class: /

BT & FT 99 ¥ wElRdT
1. Arachnida / TTereAST
2. Diplopoda / fSTeiIGisT
3. Crustacea / SheciQmT

4. Hexapoda / garaTqIaT
Correct Answer :-

« Hexapoda / geraTaIsT

38) A heavy box of mass 20 kg is pulled on a horizontal surface by applying a horizontal force. If the co-
efficient of Kinetic friction between the box and the horizontal surface is 0.25, find the force of friction

exerted by the horizontal surface on the box (take g=9.8 m/sz). /

20 fFAIH gSIHA drel U AR 997 &) &ifdsr 9dg W &ifdsr g e @iar e gl I 9969
3k difasr wag & <= aifasr @dor F7 oTF 0.25 B, A THE W i g q@RT F9T FW ar wor
T FT AT LI

1.12.5N
2.05N
3.49N

4. 049N

Correct Answer :-

e 499N

39) While walking on ice, one should take small steps to avoid slipping because smaller steps ensure
/

aﬁwmgc,wwﬁ?aﬁﬁmaﬁ@ma?mmmwﬁmmaﬁm
I gaaa = §

1. Larger normal force / §3 AT §
2. Larger friction/ a? gyoT

3. Smaller normal force / B¢ TTHTTT ol
4, Smaller friction / B¢ TYUT

Correct Answer :-

o Smaller friction / B¢ TYOT
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40) If logs (x)=3, then x is:
I logs (x)=3, ar x &:

1.15

2. 125

3.5/3

4. 243

Correct Answer :-

41) The types of bonds present in NH4Cl are: /
NH4Cl & 39R¥d 36y & IR &1 §:

1. Only ionic / hdel TSR

2. Only covalent / hdel TEIISIT

3. Electrovalent, covalent and coordinate / d9gd Halsll, HgHANN IR IUHGHASIT

4, Both ionic and covalent / 3Tafae iR GggAST St

Correct Answer :-

» Electrovalent, covalent and coordinate / o‘lqj_j,d {-iélld'\l, Hgadral 3R 39ggarer

42) A moving charge produces /

T fqeiler 39T 3c9e HLdT &

1. both electric and magnetic field / Taqu\ 3R tj_;qcﬁlq SERAC

2. neither electric nor magnetic field / & @ facgd & 3R &7 & T &
3. electric field only / shddl ﬁ?\tﬂ?[ &

4. magnetic field only / shdel ﬂaiﬁlﬂ SE}

Correct Answer :-

« both electric and magnetic field / Taq\é—lo d 3R T};dq(w\lq SERCI

43) The mean of the first k natural numbers is x and that of the cubes of the first k natural numbers is y.
The sum of the first k natural numbers is: /
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HEITHAT T IIT §-
1. y/x

2. X-y

3. y+x

4. yx

Correct Answer :-

44) If the standard deviation is 4 and mean is 16, then the coefficient of variation is: /
Ifg A fawee 4 § 3R Arew 16 3, & fRw=or o

1.25

2.8

3.4

4. 64

Correct Answer :-

e 25

45) Find the mode when median is 9 and mean is 12 of a data? /

dgels H A F o9 U 3¢ F AeAH 9 IR ATET 12 Fhew 2
1. 15

2.18

3.3

4.6

Correct Answer :-

46) Find the sum of the first six terms of the Geometric progression with first term 2 and common ratio 3.
9UH U 2 AR WHAFT I 3 F Y IO AT F GYA T Y&l FT AT AT RS
1.-728

2. 728
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4,753

Correct Answer :-

o 728

47) A person can see only upto 3 m. Prescribe a lens for his spectacles so that he can see clearly upto 12
m. /

% gfad Fad 3 HicY dF 4@ FHAT 81 30F WA F A vF AW w1 g qfow arfF a7 12
#HeT dF 3@ TH|

1. Concave lens of power -4 D / -4 D &5 dTell 3dddl ofd

2. Convex lens of power -0.25 D / -0.25 D &7 dTell 3cdel oid
3. Convex lens of power -4 D / -4 D &&dT dTell 3cciel ofd

4, Concave lens of power -0.25 D / -0.25 D & aTell 3add ofd

Correct Answer :-

« Concave lens of power -0.25 D / -0.25 D &3 aTell 3/ddel ol

48) The sum of all terms between the third and the thirteenth is 66. Find the number of the term of the
sequence that is equal to 6. /

Ay 3R aved & oo @l gl &1 AT 66 Bl ITHA F U A WEAT A FAT ST 6 F
T ¢

1.8
2.6
3. 11

4.10

Correct Answer :-

49) From a point on the ground which is at a distance of 50m from the foot of the tower, the angle of
elevation to the top of the tower is observed to be 30°. The height of the tower is: /

el & urg & 50 HX F gl W Il F Rya v [y §, e’ & oMY W 37371 For 30°
e fRar Srar 81 efax fr FarS §:

1. 50m

2. 30m
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4, 50N3m

Correct Answer :-
e 50/3m

50) A copper block of mass 60 g is heated till its temperature is increased by 20°C. Specific heat capacity
of copper = 0.09 cal/g°C. Find the heat supplied to the block. /

60 IATH FEIATT aTell dId & U gahsl, 8% 20 Baft Afcwaw amawe g & IRe fram Simar ¢
aie #1 faflee saAT aRar = 0.09 cal/g®C 133 Ft & 7§ FvAT F AT B

1.2.7 cal
2. 2.7 /cal
3. 108 cal

4. 1.08 cal

Correct Answer :-

e 108 cal

51) The IUPAC name of the following compound is:
CH3—CH,—CH=CH-C=CH /

Feafaf@a s #1 IUPAC 97 sa18T:
CH3-CH,—-CH=CH-C=CH

1. Hex-3-en-1-yne

2. Hex-1-yn-3-ene

3. Hex-3-en-5-yne

4. Hex-5-yn-3-ene

Correct Answer :-

» Hex-3-en-1-yne

52) The range of the scores 28, 21, 37, 42 and x is 27 (where x<21). The value of x is: /
THR 28,21,37, 42 3T x F1 I (IRW) 27 81 (ST x<21) x FT AW §:

1. 15

2.12

3. 18
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Correct Answer :-

53) Mechanical advantage (M A), load (L) and effort (E) are related as: /
Tifyew e (M A), IR (L) 3T 999 (E) 77 ¥ ¥ g&fa &
1.E=MA/L

2.E=MAxL

3. MA=LxXE

4. MAxE=L

Correct Answer :-

e« MAXE=L

54) Natural gas is primarily composed of : /
TEfaE W qTT T F FET TN g &
1. A mixture of octanes / 3ffFe=il & fa=or
2. n-octane / n- 3fTFesT

3. n-Butane / n-sg¢el

4, Methane / AL

Correct Answer :-
« Methane / &

55) In an experiment to determine the internal resistance of a cell using a potentiometer, the balancing
length is 500 cm. When a resistance of 5 ohms is joined in parallel with the cell, the balancing length is 300
cm. Calculate the internal resistance of the cell. /

wWwWWwW%WWﬁmmaﬂﬁcwmﬁm
amé(ﬂﬁwﬁer)soom%lmssﬁﬂmm @a#wmm#agm%mm
warS (SR o) 300 A @ I §1 AT F AR gfaier f 0T FI

1. 2 ohms
2. 3.33 ohms
3. 6.66 ohms

4, 0.33 ohms
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¢ 3.33 ohms

56) Which of the following is a buffer solution? /
Teafaf@a & ¥ Fila-ar 337- gl T Ao §2
1. NaCl + NaOH

2. CH3COOH + HCI
3. CH3COOH + CH;COONa

4, HCI+ NH,CI

Correct Answer :-

+ CH3COOH + CH3COONa

57) A vertical pole of height Sm casts a shadow of length S5m. The angle of elevation of the
sun is: /

5 e FE1E 91em TF FEaTer 9, 5 Hiey d«rS Y ST STerar 8l §F FT IewTdel HIT 3
1. 180°
2. 60°
3. 90°

4, 45°

o 45°
58) A magnetic needle is kept in a non-uniform magnetic field then it experiences .
TF qFahT ¥S 0F HAAW JFah &7 # W 9t § owd 78 e HIA B

1. a force but not a torque / Teh el olfehel EIFITEI;U‘[ HT oTar
2. a force and torque / Ueh ol 31T FTEOT &l
3. neither a force nor a torque / o1 ﬁ §T 3R ?f EHTQI'\UT T

4. a torque but not a force / Ueh FTHUT AifheT Ueh ol T G

Correct Answer :-

« aforce and torque / T &of 3T EIT»lTEjP‘r hl



M) LIS VI IIAIILy VUl 4171 DUIPIIUT IV aulu 1D.

2M HeHIRF 3Fd HT WHAIAT il o
1.0.25N

2.4N

3.0.5N

4.2 N

Correct Answer :-

60) Calculate the focal length of a convex lens of crown glass of dispersive power 0.012
and concave lens of flint glass of dispersive power 0.020 so that when placed in contact
they form an achromatic converging combination of focal length 30 cm. /

0.020 9R&idY a7HaT & fFele eI & 3radd o 3i¥ 0.012 IR&d 77T F F139 ITH F
TF 3cddl o ) BiFd JdFG1E AT F dliS oI 3o U5 H @7 F O 3 30 S Hr Srer
4TS & T Uil FIFRIART TASA B FAfFET FL

1. -20cm
2. 12 cm
3.6cm

4,20 cm

Correct Answer :-

61) The larva of Sycon is called ./
HISHIT HT oET Healdr gl

1. amphiblastula / 33 (ﬁIW@T)

2. redia / X337

3. parenchymula / #qd (QQrchl$d:|3<~ll)

4, trachophore / ¢hIHIX

Correct Answer :-

« amphiblastula / 3HPRH (ﬁ?‘ﬁlc_cjﬁa?ﬁ)
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logs (x)+log4(x-1):

1. log (x3(x-1))

2. log, (x)logy(x-1)
3. logy(x(x-1))
4. logy(x(x-1)!/?)

Correct Answer :-

. logy(x(x-1)'"2)

63) A compound microscope consists of two lenses. The lens towards the object is called

objective lens and it is a -/
TF UgFA Yagedt 7 3t o g1 §1 awq A A oW Y AAeeTF W FET A1 81 TS 0F
gaT gl

1. Convex lens of large focal length and large aperture. /

JET BIhel e TS 3R 93 IR dTell T Scddl o

2. Convex lens of small focal length and large aperture. /

BIET Biehel oFaTs 3R I3 GaR dTell T 3ol ofd

3. Convex lens of small focal length and small aperture. /
BICT el oFaTs 3R BIC GRS aTell Ueh 3cddl ol
4. Concave lens of small focal length and small aperture. /

BICT Bidhel oFdTs X BIC GdRe dTell Ueh 3ddel olF

Correct Answer :-
» Convex lens of small focal length and small aperture. /

BIET Blehel oFdTs 3T BIC AR dTell Teh 3cddl ofd

64) . T L Ot
The sum of the infinite geometric series ¢ 1¢ 32 &< is: /

3 3 3 3
Sty

WWWS 16 32 &2 ﬂ-;ngrg-
1. 1/4
2.1/16
3.1/2

4. 1/8
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65) The pK, values of four acids are given below at 25 °C. The strongest acid is: /
A R 3FEl & pKy AT 25 °C W] B 13 §| 998 I 3 ¢

1.2.5
2.4.0
3.3.0

4.2.0

Correct Answer :-

66) Which among the following is a disaccharide? /
Arafaf@a # ¥ wia-a1 v s$dess 82

1. Fructose / Wharelsl

2. Starch / &I

3. Cellulose / Holeitel

4, Lactose / oiereist

Correct Answer :-

o Lactose / ofeFeror

67) The 10th term of Geometric progression with first term 2 and common
ratio 2 is: /

o IE 2 3R T e 2 & WY I[oitear Aof #7107 g ¥
1,225

2.2823

3.2%2

4,2°

Correct Answer :-

. 2925



68) Simplify: / T I
sin150°. sin151°...... sin190°?
1. 180°

2.1

3.0

4. 90°

Correct Answer :-

69) The characteristic of log 5= 0.6988 and the mantissa of log 10 =1 is: /
log 5= 0.6988 T YUITer 311X log 10 =1 T 31UITer &

1.0,1

2.1,0

3.1,1

4.0,0

Correct Answer :-

70) Fertilizer having highest percentage of nitrogen is: /
ITIAH YA ATFESTT el 39T o

1. Urea / gRam

2. Calcium cyanamide / HIeRIH TRIATHSS

3. Ammonium sulphate / 3TAIITd Hothe

4, Ammonium nitrate / 3FAAIH T5cT

Correct Answer :-

71) Which of the following is NOT an arithmetic sequence? /
farafaf@a & & sla-a1 F FATHR FTHEA (FHEAR Ao) TE 82

1.1,v2,V3,2,V5, ..
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3. 1/3, 1/10, 1/17, 1/24,...
4.1,3,5,7, ...

Correct Answer :-

e 1,V2,V3,2,V5, ..

72) Ammonium nitrate (a fertiliser) is coated with limestone powder to: /
IAAIA AT (TH 38RF) A I & TeAqT & IEsT ¥ afded frar Jrar § o
1. avoid the risk of explosion. / fa¥®Ic & SNTEGH HI AshdT gl

2. cut down its production cost. / SHehT 3cUTGa AT I HHA HIT gl

3. increase its nitrogen content. / SHBT ATSEIoleT 37dId eI &l

4. add extra nutrient as fertiliser. / 393 & T H faRed Y STadr gl

Correct Answer :-

« avoid the risk of explosion. / ATwie & SNTW@H FH AT ol

73) Gold number is a measure of : / TGUT TE&AT AFA T AT T &

1. the amount of gold required to protect the colloid / I8S Pl FdART & [oIT TGRS TIUT
T AT

2. the amount of gold required to break the colloid / PSS &I dAISA & [T 3TaeTSH Faof
T AET

3. the amount of gold present in the colloidal solution / leli@ar fdedel & 3UREAd ot fr
HTAT

4. none of these / W qI ﬁé TRl

Correct Answer :-

« none of these / 3'C|'5IQT<-T H T FS A8

74) 1f ‘¢’ is the radius of the first orbit, the radius of the n'® orbit of the H-atom will be: /
ARy o wuw Far A Bear §, @ H-uwamy i ol war A B @i
1. r2n2

2. m2
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4. m

Correct Answer :-

75) General formula for the alkenes is : /
el & foT aeT ¥7 &

L. CyHoni

2.C Hy,»

3. C,H,,

4. CnHZn+2

Correct Answer :-

» CyHyy,

76) A writer wrote 250 words on the first day, 320 words on the second day and 390 words
on the third day, and so on. How many words did the writer write in a week? /

TF JdWF A Ted & 250 oreg, gEY faew 320 g T AAY e 390 ey o 3w s ww
gg for@ar I v dcaE A d@e o fhde s |

1. 560
2. 620
3.670

4. 580

Correct Answer :-

77) The thermal conductivity of copper is 4 times that of brass. Two rods of copper and
brass having the same length and cross section are joined end to end. The free end of the
copper rod is kept at 0°C and the free end of the brass rod is kept at 100°C. Calculate the
temperature of the junction of the two rods at equilibrium (neglect radiation losses). /

i # FEAT Grerwar, e F AFET 4 T JfAF g1 a9 dR faa i @ 53,
Waﬁéfr%sﬁtwm QW@MWE?W%IH@'H%EEWW
BN, 0°cwwm%3ﬁtthav£rmmww 100°C R T@T ST
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Ly
1.5°C
2.25°C
3.20°C
4.10°C

Correct Answer :-

e 20°C

78) The molecular mass of acetic acid is 60. Its empirical formula is: /
fAfeE e F1 IVaw geIATeT 60 &1 FHHT HeARIU FF o

1. C,H,0,

2. C,H,04

3. C3HgO;4

4. CH,0

Correct Answer :-
b CHzO

79) 1If a positive charge is shifted from a low potential region to a high potential region, the
electric potential energy: /

I TF FHRIcAS Imae, fe Rufasr a7 & 30w Rufas &9 & wga s g, @
fgga Pufas s

1. Decreases / €3]
2. May increase or decrease / §¢ T € Tehall gl
3. Increases / St

4, Remains the same / THTT Ig3iT|

Correct Answer :-
o Increases / §&3iT|

80) The refractive indices of flint glass for red and violet light are 1.613 and 1.632
respectively. Find the angular dispersion produced by a thin prism of flint glass having
refracting angle 5°. /
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qadel 0T qrel [Felc 7o & Tdol Wed q@r AT FIoiT gieigor &1 AT #:I
1.5°

2.1°

3.16.225°

4. 0.095°

Correct Answer :-

» 0.095°

81) Which of the following formulas is TRUE regarding logarithms? /
TLUF F Wey # Pl d @ Fa-w 57w

1. logy(xy)=logy(x)+log(y)

2. logy,(x+y)=log,(x)+logy(y)

3. logy,(x/y)= logy(x)/logy(y)

4. logy(x-y)=log(x)-log(y)

Correct Answer :-

 logy(xy)=log(x)+Hlogy(y)

82) Find the number of terms if the first term of an Arithmetic Progression is 10, last term of
an Arithmetic Progression is 60 and the sum is 350? /

el i FE&aT A HfT I FgAER Aol FT 9UF7 95 10 §, GHER Aot F 341fa7 ug 60 §
3T AT 350 &2

1. 15
2.20
3.10

4.5

Correct Answer :-

83) The 4! term of a Geometric progression is square of its second term, and the first term
is 3. Then its sixth term is: /
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1. 650
2.729
3. 598

4. 693

Correct Answer :-

e 729

84) “Greater the valency, the higher is the coagulating power of ion”. This rule was proposed
by: /

“fRHY AT T TASTFaT [oaer J0F Gt &, 3THT Theed FIA HT &JAGT 3T &
#fOF gt §17 I8 FIH 9F ganT yEarfad fFar aam o

1. Hardy-Schulze / ETsﬁ-{I’?T?f

2. Graham / 3gH

3. Kossel and Lewis / Ieder 31X osH
4, Faraday / %138

Correct Answer :-

« Hardy-Schulze / Eﬂﬁ-ﬂovﬁl

85) How many two digit numbers are divisible by 2? /
QY 3l arelt fhast gEaw 2 ¥ faursg &2

1. 50

2. 48

3.49

4.45

Correct Answer :-

86) How much gram of H,SOy, is required for the preparation of 1 litre of N/10 solution of
H,S0,? /
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g 87

1.4.9g / 4.97m
2. 49g | 493

3.9.8g / 9.8IM
4. 98g / 98TTH

Correct Answer :-

. 49g / 499
87) In C=C (triple bond) there is a sharing of: /
C=C (R-3maer) & @AFa 1 gaEiedl (i) gdr §:
1. 6 electrons / 6 SelFcleT
2. 3 electrons / 3 Solecle
3. several electrons / FS SolFereT
4, 4 electrons / 4 STl

Correct Answer :-

« 6electrons / 6 elareie

88) An inorganic compound producing an organic compound (urea) on heating is : /

T F W F Fafad GfAw (IRAT) 3cafead Fa arer T FFefas T 8
1. Ammonium cyanate / FTHAIH AT
2. Potassium cyanide / CIAEEE:] BIEGIES)

3. Sodalime / TISTATSH
4, Sodamide / GISTHSS

Correct Answer :-

« Ammonium cyanate / 3 HI T TAIC

89) According to Bohr’s theory, the angular momentum for an electron in 5t orbit is: /

IR ¥ RQid & IFqER, 57 7471 F TF g & AT o F&T g

1.2.5h/n
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3. 5w/h

4.2.5n/h

Correct Answer :-

e 2.5h/n

90) The average weight of a class of 15 students is 30 kg. If the class teacher joins the class,
then the average weight of the resulting group increases by 3 kg. The weight of the class
teacher is: /

15 BTl arelt T FaT &1 3itwa gore 30 fralane 31 Af Fem & e anfder ghar &, a
aRomelt g #1 wa aorer 3 fre A% Ig ST 81 ReE F: gere o

1. 60
2.55
3. 82

4.78

Correct Answer :-

91) Molecular formula of a compound is: /
e i F1 3foaw g 8

1. n x its empirical formula, where n=1,2,3,... / N X SHT H@]ﬂﬂ?—ﬂ' a7, S8l n=1,2,3,..

2. 4 x its empirical formula / 4 x SHHT HelleIaTcll
a9

o

3. 2 x its empirical formula / 2 x $HT FelleqTcl

q
4. 3 x its empirical formula / 3 x ST ﬂﬁ@qﬁ GEl

Correct Answer :-

e nx its empirical formula, where n=1,2,3,... / N X SHpI H‘\ﬁloghllc'l\l 7, 8T n=1,2,3,...

92) How many terms are there in the Geometric Progression 3, 9, 27, ...
21877 /
14

ot Aot 3, 9, 27, . . ., 2187 # Fol et 9 82
1.7

2.8
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4.5

Correct Answer :-

93) A pulley system with a velocity ratio of 4 is used to lift a load of 150 kgf through a vertical
height of 20 m. The effort required is 50 kgf in the down ward direction. Calculate (i) the
distance moved by the effort (ii) work done by the effort (iii) the mechanical advantage (iv) the
efficiency of the pulley system? /

4 377 g F TIY TF BT (TelY) womelt, 20 #Hex i Feater F=8 § 150 kgf R 1 35 & faw
SEQATA Y SATCT g1 A Fr e & Far I arer 3maeys 1w 50 kgf 81 Iorar H:

(i) AT % 9 qF A 7S g (i) T @R R aran sy (i) FnfeE amer (iv) el vore #y
GaTaT?

1. 40 m, 20000 J, 3, 50%
2.40m, 20000 J, 3, 25%
3. 80 m, 40000 J, 3, 75%

4. 80 m, 20000 J, 3, 50%

Correct Answer :-
e 80 m, 4000017, 3, 75%

94) The upper blood pressure of a patient is 160 cm of Hg whereas the normal blood pressure
should be 120 cm of Hg. Calculate the extra pressure generated by the heart in SI unit.(density

of Hg=13600 kg/m?> and g=9.8 m/s?) /

TS AT FT FI T Hg FT 160 cm g SIS THET IFAA1T Hg FT 120 cm g1 TRT| SI 3F1E F g
EART 3¢9+ ITARF geTa &Y 0T F31 ( Hg T gsicd =13600 kg/m> and g=9.8 m/s?)

1.5.3312x 10* Pa
2.53Pa

3.40 Pa

4.20Pa

Correct Answer :-

e 53312x10%Pa

95) The remnant of nucellus present in seed is called ./

disr # Aleg deEFE™ & FAY F FgT ST ol
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2. pericarp / &Te PIY
3. perisperm / qﬁ'ﬁi'\UT I
4. endosperm / $OTAIY

Correct Answer :-
« perisperm / Clﬁ'aﬂ;UT Y

96) The opening of a flower and drooping of a bud are examples of: /
TF I57 HT Goial 3 Foll HT AT SHHT 361607 gl o
1. Spontaneous movements / Tdd: Ifd

2. Hyponasty / H%ﬂq%—a?iﬂ' (BTSUIIEEY)

3. Epinasty / Hiﬂia_r-lﬂ (TTOaE)

4. Curvature movements / dsh ITicT

Correct Answer :-

+ Epinasty / H?ﬂ'fl;_tl?r (TaES)

97) An electric iron is marked 220 V, 440 W. What current does it take and what is its hot
resistance? What is the weekly cost of using it for 30 minutes daily at Rs.2/- per unit? /

e fagga 3 I 220 V, 440 W Rifeea ¥l e fraelt emr ol & 3ilk gt ot wiokier = 82 2/- sww gfa
gfare & feare ¥ 30 fAse & fAT 5@ sFaATe Hya & AreaTies o #4182

1.1 A, 110 ohm, Rs.3.08/-
2. 0.5 A, 100 ohm, Rs.3.08/-
3.4 A, 110 ohm, Rs.30.08/-

4.2 A, 110 ohm, Rs.3.08/-

Correct Answer :-
e 2 A, 110 ohm, Rs.3.08/-

98) Ifsin a=4/5 and cos B=15/17, then the value of sin{a-B), where 0< a, B<90°is: [

gfe sin a=4/5 31X cos =15/17, AT sin{o-B) TT AT FIT BT, TGT 0< o, P<90°:
1.23/32

2. 36/85

Page - 32



4. 12/17

Correct Answer :-

« 36/85

99) Simplify: / I I
2In10-2In5

1.2In2

2.In2

3.4In4

4.In4

Correct Answer :-

e 2In2

100) Atropa belladonna, an important medicinal plant belongs to the family of: /
echar Jenslar, 38 Fel F UH Ageaqur itwelr gl 8

1. Liliaceae / forferadr

2. Solanaceae / Hreledl

3. Cruciferae / W

4, Cucurbitaceae / W

Correct Answer :-

« Solanaceae / Grelaldr

Topic:- Agriculture II + III

1) White alkali soil is also known as: /

Thg R AGT F ___ F a7 F oY S Frar @
1. Saline soil / eIgoiT el

2. Saline sodic soil / oG &I Har

3. Acid soil / 37&FeT Har

4. Sodic soil / &TRI Far
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« Saline soil / g0 HaT

2) A tree having yellow flowers is: /

dier Fall drem T 98T

1. All of these / & Hal

2. Erythrina indica | TRT&=T sf@T

3. Jacaranda mimosifolia | SI#RsT [AAIGEHelaT

4. Peltophorum ferrugineum | 9eeIBRH ol

Correct Answer :-

o Peltophorum ferrugineum | GeclBRHA BoailiaT#

3) Guava belongs to the family of: /
WG ¥ Fa @ wafaa g
1. Anacardiaceae / TATRRISTHT

2. Caricaceae / Hhilhdl

3. Myrtaceae / FEHT

4, Moraceae / AT

Correct Answer :-

« Myrtaceae / HETT

4) Bowmans capsule is related to: /
AT Foge e F gafda @
1. Lungs / %h%hs

2. Liver / Iehd

3. Heart / &SI

4. Kidneys / dgeeh

Correct Answer :-

+ Kidneys / dodep



2) Digging pIts on tne SIoPEs Just 1I0r the accumulation o1 runoIt water 1s Known as: /

HYGE I & 9T & AU g W N3¢ Gigad N e ISR § A= AT §:

. N\ [d
1. Contour trenching / AT WIg TelTell

2. Contour terracing / AT 3T FoATell

3. Contour bunding / THITT ST FeATel

4. Beach terracing / d¢IT & SeIell

Correct Answer :-

. Contour trenching / THITT WS eTel

6) Ration is the amount of feed received by an animalin____ ./
A TF AR AR H Uiod Sl Y A g

1.30h / 309¢

2.24h / 246

3.6h / 6 €¢

4.12h / 129¢

Correct Answer :-

« 24h / 24°¢E

7) A major disease of radish is: /
T T TF HE W

1. Powdery mildew / ﬂﬁﬁ 3T
2. None of these / 34 & IS =Tgr
3. White rust / T%e g

4. Leaf rot / o7 T3aTeteT

Correct Answer :-

« White rust / T%he fohg

8) A long Mould Board (MB) with a gentle curvature used in tough soil full of grass is: /
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IE &

1. Breaker type MB / $5feh JehX Rl Tl

2. Slat type MB / Tl YhR I THaT

3. General purpose MB / GTHT 3227 &l THdT
4, Stable type MB / T€2X YK &l THeT

Correct Answer :-

« Breaker type MB / $5Teh YehR T THeT
9) Calcium is a component of: /

o &1 wF 9eF g

1. Secondary walls / gfadiae fafeaar

2. Primary walls / wTaf@e fRfcaar

3. Chlorophyll / Q'Uﬁ?ﬁ?f

4, Middle lamella / #ET JeforanT

Correct Answer :-

« Middle lamella / A7ET geforaT

10) What is the boiling point of milk (Celsius)? /
oy (AfaTw #) F1 FIUAF FAT Fer §?

1. 102

2. 100

3. 105

4,95

Correct Answer :-

- 100

11) What is the limit of feeding liquid milk to a calf? /
63 F e gy e Fr AT 74 32

1. 8% of body weight / 2RI & dTeT AT 8 YfaerT
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3. 5% of body weight / QRIX & Tolel &I 5 Ffaerd
4. 10 % of body weight / 2RI & dSlel T 10 AT

Correct Answer :-

« 10 % of body weight / SRR & Tstel T 10 Tfa2rT

12) What is the minimum fat percentage in cattle feed? /
9 TR H FgAaH I giawrd FqT g2

1.2.5%

2. 1.5%

3.0.5%

4. 1%

Correct Answer :-

e 2.5%

13) What is the required quantity of mineral mixture for milch cattle per day? /
yfar foer gams a3t & faw @fasr @sor it sraeas @M= F4r 82

1. 100g / 100 ITH

2.10g / 10 ATH

3.30g /30 AqTH

4. 50g / 50 ITH

Correct Answer :-

. 50g /50 ATH

14) What is the required manger space for milch cattle? /
gu AR F T s TwEl TR w24 g 82
1.2.5 feet / 2.5 HIE

2. 10 feet / 10 Ie

3.5 feet / 5 Hie
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Correct Answer :-

« 2.5 feet/2.5HIE

15) Immunoglobulins are rich in: /

R SLEL L Ny (]
1. Toned milk / €I &Y

2. Fresh milk / TS g&f

3. Skim mik / Helg TR (REeha) g

4, Colostrum / sTaEI=T (HIECH)

~

Correct Answer :-

« Colostrum / sTdEAT (HIECH)

16) Soil puddling is classified as a ./

AaT gsfoer (T S ) F UF _ F w9 H Fefiea A B
1. zero tillage / =T EIQT-H':';'

2. secondary tillage / E'(\%T-ﬂﬁ EJ_}FI'Ié’

3. primary tillage / ITITHH 3]3?!1%

4. blind tillage / TEIT (STSS) TS

Correct Answer :-

« secondary tillage / ajﬁm GIQFIIé

17) Indigenous plough is a: /

agalt g &

1. Secondary tillage tool / GIdciIdeh \gdlé 390

2. All of these / I Tsfr
3. Primary tillage tool / YT Gloalé 3YhI0T
4, Multipurpose tool / ags??%ﬂ'a 3YhI0T

Correct Answer :-
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18) Colostrum is deficient in ./
AIEAT (FIATEH) # 3rqol g Rl
1. Vitamin A / fderf@a A

2. Vitamin K / faerfdsT K

3. Vitamin D / faeIf&sT D

4. Vitamin B12 /mﬁ B12

Correct Answer :-

« Vitamin K / f@eif@s K

19) Marek’s vaccination for chicken should be started on: /
Tol & fIT AR T dhreor & fFar S =g

1. 1 month of hatch / 3718 & ol IGERGE IR RGE

2. Day of hatch / 378 & galr el & T

3. 24 days after hatch / 378 & Tl fSehelel & 24 feaT Ueard

4. 1 week after hatch / 318 & il Herelel & 1 gedig 92drd

Correct Answer :-

. Dayofhatch/ﬁ@@ﬁwaim

20) A plant growth regulator used for increasing flower stalk length in Chrysanthemum is: /

EGT3A A Fal T S HT od1s To F fav AAFT ey g FEHEE 1 3R
5T S aT &

1. NAA
2. ABA
3. IBA

4, GA3

Correct Answer :-

. GA3



<+1) A prant growi reguialor sprayea in uie onion 1ieia 1o prevent sprouung o1 puios auring

storage is: /

HSROT & SR el F HFOT F Vet & AT e & &7 § Tover wrew gy
ﬁawm%eaﬂaﬁrmm%

1. GA;

2. Ethephon / TTAHIT

3. ABA

4, Maleic hydrazide / Holsh EIB311SS

Correct Answer :-

« Maleic hydrazide / #Helgsh gB391183

22) IBT system supplies to dairy processing plant. /
IMSAET JOTTell gIererTelT (SA9) THEFIOT TIT &I & gt et Bl

1. chilled water/ 38 STl
2. condensed water / AT STl

3. hot water / IH T
4, sterile water / EﬁEI'I'U;IT%?T STel

Correct Answer :-

« chilled water/ 3% STl

23) Brucella vaccination should be started at: /
FAET EFTHIOT AT YOI ghadl AT

1. 2 months of age / 2 ATE ! 3 H

2. 6 months of age / 6 ATE T 3 H

3. 1 week of age / 1 GCATg <l I H

4.1 year of age / 1dY &1 3 H

Correct Answer :-

« 6 months of age / 6 FATE I 3 H
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fFvasr garr wXator & faw s 3qmERr §
1. Wine making / RIS Sallell

2. All of these / 3uerel Fafr

3. Pickling / 3 elToIT

4. Canning / fSeamacy

Correct Answer :-

« Wine making / SIS STl

25) A hormone used for inducing flowering in mango is: /

3H A goual & IRT Far F faw ga@er B ser arer gl 8

1. GA3

2. NAA

3. Cytokinin / @TSCIhIS (aleT

4. Paclobutrazol / Uardll ¢l Sirel

Correct Answer :-

« Paclobutrazol / 9aell se-l(\;.ld\l ol

26) Jaundice is mainly the affection of ./
diforar 7T w7 @ FT HHATT el o
1. liver / T

2. heart / gcT
3. lung / P

4. intestine / 37T

Correct Answer :-

o liver/ Tdpd

27) Microbial preparations that are applied on soil to augment agricultural production are
known as: /
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ST ST 8

1. Humus / JHH (EROT)

2. Biodynamic agent / 3id 3Tfde HRb
3. Biofertilizer / iF 33

4. Biocontrol agents / Sig faI=0T &

Correct Answer :-

. Biofertilizer / G 3d3h

28) Micro irrigation is also known as: /

wA RTE F & T F off e o g
1. Localized irrigation / TU=HT &8

2. Flood irrigation / ST ﬁﬁ!’l’é

3. Nano irrigation / si=if s

4, Petite irrigation / ufee f@?ﬂé

Correct Answer :-

« Localized irrigation / T &S

29) Heterosis is the result of ./
TR I (F0Rw) =1 aRon g
1. grading up / I AT (AT 3719)

2. close breeding / d¢ Yolele

3. cross breeding / YR Holalel

4. line breeding / A 3 UsTeled

Correct Answer :-

« cross breeding / YR Holelol

30) Mulch will help in the kitchen garden to: /

TR aifesdl & Toaar (Il ') Aea & #Age I
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2. Conserve moisture only / shdel oTHI I TI(aId el H
3. Add nutrients to soil only / Shdel THET & &I 9¥eh dcd fHellel &
4. All of these / I AT

Correct Answer :-

« All of these / T AT

31) De-worming of calf should be done from: /

53 w1 HfAgr (fB-affm) ¥ fFar ST =Rl
1. 4 weeks of age / 4 HTATE &l I

2.3 weeks of age / 3 TTlg <l 3

3. 6 weeks of age / 6 TTcTg I 3

4.1 week of age / 1 FodIg hr 3

Correct Answer :-

« 1 weekofage / 1 W@'E’ﬂ

32) Ruffled feathers, cyanotic comb and wattle, yellowish diarrhoea are symptoms of : /
3&faa 9w, araifes wied AR e, fie gva & w&Ior g1
1. Coccidiosis / FehigaT

2. Fowl cholera / #3T &hRT (BT3el o)
3. Fowl typhoid / ®I3el 3 SaX
4. Marke’s disease / AR T

Correct Answer :-

» Fowl cholera / H3M SRT (BI3eT i)

33) A fruit plant which is commonly propagated through air layering is: /

TF Gl T S WATIAn: a1 Wad & AegH & gwiia (wfda) g &
1. Guava / 31HAEG

2. Mango / 3TTH
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4, Jack / shcgel

Correct Answer :-

e Guava / 3THEG

34) Which mango variety is suitable for high density planting? /
3ed "eled 90T & T 3 At wia @ Few sogea

1. Amrapali / 3THITEN
2. Sindhur / ﬁ-ﬁl‘?\'

3. Alphonso / 3TeTHIET
4. Mallika / FATeeTeT

Correct Answer :-

« Amrapali / T&EYTell

35) Which portion of the head of cattle is known as Poll? /
Al & R & Fe g Hraa sermars?
1. Back of upper lip / 30T 816 T TUSSIT AT

2. Bridge of nose / AGS (TsiaT 31T =ire)

3. Raised portion between horns / Hid1i o &1 &l 3T g3 19T

4. Lower jar angle / fo2IelT STEIST 10T (G131 SR TTeT)

Correct Answer :-

 Raised portion between horns / et & &I T 33T §3—1T HATIT

36) Which among the following is an early duration variety of potato? /
Preafafed & ¥ Fa-a 3o H TREE FaR A e ¥

1. All of these / 3'51'{13*?1' T

2. Kufri Ashoka only / dhael i'TCfTﬁ' 37eleh

3. Kufri Jawahar only / Fdel fch'fl' STdreY

4, Kufri Chandramukhi only / Fhadl fcb'ﬂ' ﬂ?ﬂﬂ;@’f
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- All of these / 39T &3l

37) Which among the following is an ornamental plant with medicinal value? /
afaf@a & @ Fia-ar sitwer ot aen aoEd o §2

1. Zinnia / Sle=irar

2. Vinca / GaTldgR

3. All of these / & T8

4. Verbena / dssIT

Correct Answer :-

o Vinca / HaldgX

38) Which among the following is an ideal rootstock for grafting Brinjal for bacterial wilt
resistance? /

SAtarorer Ferfar gfader F AT dorer w1 Fworwr guw @ F Qv GEmfaf@a 7 § Fla-
|l T e e 82

1. Solanum torvum | Hlet=H ENTH

2. Solanum tuberosum | Gleld#H gf/\d()ﬂa‘-/

3. Solanum lycopessicum | HFlctdH FHISHIGIHPH
4. Solanum melongena | Tlol=TH Helldl=T

Correct Answer :-

o Solanum torvum | HieldH ERTH

39) Which among the following is a physiological disorder of rose? /
fmafaf@a & @ Fia-ar o #1 & FAAT @TFR 2
1. All of these / I T

2. Blind wood only / Hhddl selles ds

3. Bull heads only / shddl el L

4. Limp necks only / &hael ollT sied (e<iTell 3iran)

Correct Answer :-
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40) Which among the following is a tetraploid variety of banana? /
Prefofaa # @ Fladl Fa B o oS e B

1. Poovan / qdst

2. Monthan / AT

3. ‘Goldfinger’ FHIA-01 / ‘T8 fheR’ THUT3ST-01

4. BRS-1 / f131RTH-1

Correct Answer :-

« ‘Goldfinger’ FHIA-01 / ?Ties fhe’ THUT3MST-01

41) Which among the following plants is suitable for making edges in the garden? /
frafaf@a dul § & Fa-w & w7 FR = F [ s 3

1. Gerbera only / hael SIeRT

2. All of these / & Gl

3. Coleus sp. only / hdel HITAT Tollid

4. Alternanthera only / Fadl 3fTeeIART

Correct Answer :-

« All of these / I T

42) Which of the following is a legume fodder? /
fFraRf@a # ¥ Fia-a vF wellgr arT &2
1. Congo signal / SR HaeTel

2. Para grass / ORT €18

3. Subabool / geleel

4, Guinea grass / ﬂgﬁ&ﬂ L3IE3)

Correct Answer :-

« Subabool / gelgel
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FlefRa # ¥ Fia-a Re-afa awar
1. Pox / Idh

2. Anthrax / U9

3. Theileriosis / RITTT

4. Rabies / J&loT

Correct Answer :-

« Theileriosis / JRATT

44) Which of the following is a fibrous carbohydrate? /
frfaf@a & ¥ Fia-a1 th WER FEEEsT §?
1. Fructose / SoeFelsT

2. Glucose / ?JTthéIGI'

3. Cellulose / ﬁ?:l)?ﬁ?f

4, Starch / T

Correct Answer :-

o Cellulose / @'@'@GT

45) Which of the following is the largest milk producing country? /
farafaf@a & & ga@ 981 grvr 3cures U Fla-ar 82

1. USA / §gFd U AR

2. China / fieT

3. India / AR

4. UK / geTrges foharsH

Correct Answer :-

e India/ART

46) Which of the following soil pH level indicates an alkaline soil? /

Frafaf@a & & sia-ar 71 #1 divw (pH) TR F ST AT F geATEr 87
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2.pH 8.5
3.pH 6.5

4.pH 5.5

Correct Answer :-

47) Which of the following is an Indian sheep breed? /
frafaf@a & ¥ Fia-@ IR a3 f awa
1. Rambouillet / TFEISelc

2. Gaddi / 32T

3. Suffolk / HPleeh

4. Southdown / HT3UST3]

Correct Answer :-

« Gaddi /€T

48) Which of the following herbicides inhibits photosynthetic reaction? /
e # @ Fia-ar awanelt gwer @Aver JAfARRAT F Awar §?

NN W

1. Cyclohexanedione / ATSFcligrdal s dlo]

2. Benzoic acid / aGﬂEEF 3ol

3. Triazines / E,JBG%_ Gl
4, Tricarbamates / CTSHTATHE

Correct Answer :-

« Triazines / CI3oilel

49) Which of the following ploughs is ideal for deep ploughing in the grass fields? /
U & AgEl # Ml A WA & Qv Aefaf@a & F sla-ar g ey @

1. Rotary plough / EIt'\Uﬁ' gol
2. Disc plough / ddeR (f3%h) gof
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4. Ridge plough / #S gl

Correct Answer :-

« Disc plough / ddgR (l3&F) g«

50) Which of the following vitamins is NOT present in milk? /
farafaf@a & & Fia-a1 Refaa g & safewa 7@ e &2
1. Thiamine / LTI

2. Vitamin C / T&@e1i@«T C

3. Vitamin B12 / [@e1f@a B 12

4. Riboflavin / TSaIFITdeT
Correct Answer :-

« Vitamin C / [@e1f@« C

51) Which of the following cattle has originated in North India? /
Rrfafe & ¥ Fad wadh $ seafed sew wRa #F g dn
1. Amritmahal / W

2. Bargur / SR

3. Kankrej / SlehLal

4. Hallikar / §eoileny

Correct Answer :-

. Kankrej / ShiehisT

52) Which of the following elements is present in the core of chlorophyll molecule? /
frafaf@a & & Fia-a1 aca goiegRa (FRIfFe) 307 F sreasier F sufeaa gar &2
1. Fe

2. Mg

3. Mn

4. K
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53) Which of the following elements is NOT required by plants for their normal healthy
growth? /

fArafaf@a 7 @ Fla-ur aca oyl qarr 3a7& gweT ey Aew & fav sraeas
gt g7

1. Pb
2. Fe
3. Mg
4, Ca

Correct Answer :-

« Pb

54) Which of the following is NOT a feed additive? /

afaf@a & ¥ T sew F Bamr o= arer des (s WRe) a8 2
1. Antioxidants / TE3iFEEcH

2. Antibiotics / TlEIfEFH

3. Flavoring agents / Tdig dgl dlel Usicd

4. Fish meals / #Aaell $ilstet

Correct Answer :-

« Fish meals / Gl HioleT

55) Which one of the following is NOT an advantage of organic manure? /
farafaf@a & & Fia-w1 e Fefas @G F1 vF anr TE 82

1. It acts as mulch and minimize the evaporation loss. / g Teh el O & T H ST Hdl
¢ 3R arSUeIoT JhATT P HHA HIT &

2. It decreases water-holding capacity of soil. / Ig #HaT FI STA-4RUT &THAT Pl He Il gl

3. It helps to maintain C:N ratio in the soil. / Jg #HeT H CN 3HeaTd Pl FAI0 W H Hcg
L Bl

Page - 50



HLr gl

Correct Answer :-

« It decreases water-holding capacity of soil. / Ig FHeT FI STA-4RUT &THAT Pl e Il gl

56) Degreening in fruits can be achieved by applying: /

wal A gRadT FATCT AT F 9gFT F&H Iod HT ST Al g
1. All of these / B'Q'éﬁDTcr T

2. Potassium permanganate / ST WRHIIC

3. Ethylene / Tatellel

4, Maleic hydrazide / Hfos REEEIES

Correct Answer :-

« Ethylene / TielieT

57) The overall mineral level of soil recedes due to: /
& & TAT iAot FaX & FROT T gl
1. Leaching and utilization by plants / i&TTeleT 3R diei CAaRT 39ATeT

2. Leaching only / hael fiaTTeret

3. Utilization by plants only / Shael Giet GEIRY 39T
4. Chemical reaction / Ta e 31fATHaAr

Correct Answer :-

« Leaching and utilization by plants / f&TTeleT 3T Gt gaRT 39Ner

58) The total depth of water (delta) required by a rice crop (duration 120 days) to reach
maturity is: /

qﬁmmaﬁqgaﬁavmma?rm(mnoﬁmaﬁmwmﬁgﬁr
M (S°T) © -

1. 140 cm / 140 QT
2.100 cm / 100 HT

3.80 cm / 80 &Y
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Correct Answer :-

« 120cm /120 §HT

59) The decomposition of carbohydrates by microorganisms on enzymes is called .
TSITSAT 9T HEASEl GaRT FEEISsC & HTaes &l FET ST gl

1. Dextrinisation / SFECIATSSIT
2. Fermentation / fohudaer

3. Putrefaction / Gsdl
4. Canning / TSsaTed]

Correct Answer :-

« Fermentation / TerudeT

60) The three-year old cattle will have ./
wF i @ F AQA HF g

1. 2 permanent teeth / 2 TR &I

2. 3 permanent teeth / 3 TATAT &l

3. 4 permanent teeth / 4 TATAT &

4, 8 permanent teeth / 8 TATAT &

Correct Answer :-

« 4 permanent teeth / 4 TATAT &I

61) The composition of milk changes with the ratio of: /

g &I GUeA fAF & U & WY g &

1. Isobutyric acid:butyric acid / m@@ﬁ? 3HFeT: @@ﬁ? 3AFeT
2. Butyric acid:valeric acid / alt\'aﬁ? 31F : JelNeh 31

3. Acetate:propionate / Uface: MAAT

4, Isovalerate:valerate / 311$H\Id015\6 . oRT

Correct Answer :-
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62) The standing space for a pregnant cow (sq.m.) should be: /

wetacht T F AT @3 @ (FEfRW) &1 ' (F9F Hew F) Qe TR
1.7

2.5

3.6

4. 10

Correct Answer :-

63) The biocontrol agent for managing Cercospora leaf spot in Bhindi is: /

et 3 HtEaRT oo R & e ¥ v S PR wRE §
1. All of these / 3"737(?7 FHr

2. Bacillus macerans | FETH HFXT

3. Trichogramma chilonis | STSPIAAT feflfea

4. Pseudomonas fluorescens / \7-_{5737?37@' FAANHH

Correct Answer :-

e Pseudomonas fluorescens / \’-f/\S'/\J-//\a'//\"/ FINEG

64) The ratio of the quantity of water stored in the root zone of crops to the quantity of
water actually delivered in the field is known as: /

Al F I3 8T H FAed ST T AGT HT dl & JEdad & & @alka sa 1 A=
¥ 3T ¥ T & AT S B

1. None of these / ST & IS oTgT
2. Water conveyance efficiency / 5TeT Hdgsl Gafdl
3. Water application efficiency / STel H?:ID'QTﬂW Ga&Tdr

4. Water use efficiency / STel 3UINT gaTdm

Correct Answer :-

» Water application efficiency / STel 3] T GaTdl
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65) The daily milk secretion of a cow by percentage of its body weight should be: /
TF A A SAF gy T UE 3UF WK F g9 F 9T F FUR A g aiew

1.20%
2.10%
3.15%

4. 8%

Correct Answer :-

66) The first ring on the horn of a cattle appears at: /
Al & dier W ggen gew @ &ar

1. 6 months of age / 6 FgleT I 3 H
2.5yearsofage/53"§' $r 3 H

3. 1-2 years of age / 1-2 @Y @1 g H

4. 3-4 years of age / 3-4 aY T 3 H

Correct Answer :-

. 3-4 years of age / 3-4 A &I 3 H

67) The other name for three day fever seen in cattle is: /

Al F ¢ e g AT BT F s 7 q@r A

1. Swine fever / FAIgeT Fe] FaX

2. Ephemeral fever / ¥4y wal
3. Canicola fever / hiaThlell Sav
4, Milk fever / ??-T Sd¥

Correct Answer :-

« Ephemeral fever / ¥et1y ol

68) The total percentage of solids in buffalo milk is: /
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1. 12%
2. 17%
3.10%

4.15%

Correct Answer :-

e 17%

69) The largest portion of brain is ./
Afeas®H FT TId F7 AT ghar Bl
1. cerebellum / W

2. cerebrum / YHTEASH

3. Medulla / HSST (Agel)
4, pons / SiER:

Correct Answer :-

« cerebrum / YATEISH

70) The process of preserving food by rapid freezing followed by dehydration under vacuum
is called .

foaTa & siaeia fAsidieator & s dig AT ganT st 1 Wida w3 T gfear
FEarar gl

1. Lyophilisation / GaEgIeoT (SMAThelSorereT)

2. Sterilization / IO

3. Cold dehydration / ffd fo¥sTellanior

4. Cryopreservation / fa@Adra IRR&T0T (FRAITNSEL)

Correct Answer :-

« Lyophilisation / Ga¥AgII0T (MAITthellgoiereT)

71) The minimum percentage of TSS in the fruit syrup is: /

Bl & T & TSS i syerasr ufereraar &t &
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2. None of these / o7& & ﬁé Tl

3.65%
4. 75%

Correct Answer :-

. 65%

72) The lactose content in buffalo milk is: /

T ¥ qu ¥ qruer (e A A ¥
1. 5%

2. 7%

3.2%

4.10%

Correct Answer :-

e 5%

73) The National Deemed University for the dairy research is located in .
TSERT 38 TH ARG farafaggre # foua #

1. Haryana / gRamoT

2. Tamil Nadu / H&lﬂﬂ@

3. Delhi / f&eelr

4, Kerala / el

Correct Answer :-

« Haryana / gR3TOm

74) The oestrus cycle of a cow is: /

AT F FG TP T JI g B
1. 10-15 days / 10-15 &eT

2.18-21 days / 18-21 f&aT
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4.25-27 days / 25-27 f&=T

Correct Answer :-

. 18-21 days / 18-21 f&eT

75) The specific gravity of cow milk is: /
M F gy F fafdse qwea g

1. 1.07

2.1.01

3.1.03

4.2.0

Correct Answer :-

- 1.03

76) The breed of chicken that lays blue eggs is: /
1. Rhode Island Red / UES 3MSels 18

2. Kadaknath / ShSehdll]

3. Leghorn / ATBloT

4, Ameraucana / 3THRIhIIT

Correct Answer :-

« Ameraucana / 3THIRIAT

77) The most common disease of banana in India is ./
AT # F F GIH FACIWT B

1. All of these / 3?{1% gar

2. Sigatoka only / hael eIt

3. Bunchy top only / &hdel JreaieiAT MY (=T €i)

4. Fusarium wilt only / shdel q’ﬂ@ﬁ'ﬂﬂ e
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- All of these / 39T H3ir

78) The instrument which is used to measure the maturity of fruits is: /
el $T IRYFEAT B AT F AT GIFT @A arem AT g

1. Penetrometer / dfagiaiex

2. Barometer / SRIHEY

3. Anemometer / THTHIAICT

4. Fluorometer / FeIRIHICT

Correct Answer :-

« Penctrometer / UfACIHIER

79) The optimum calving interval for a buffalo is: /
TF AT F AT svean hieaer saua &

1. 6 months / 6 ?Fl'eﬁ?f

2. 14 months / 14 #AGIY

3. 10 months / 10 #AGIY

4. 16 months / 16 #gleT

Correct Answer :-

« 14 months / 14 #gleT

80) The optimum dry period of a dairy cow for the maximum milk production is: /
FftFas Y 3cuea ¥ AT wF 338 Iy H geeaw gF Faf g B
1.30 days / 30 f&eT

2.20 days / 20 f&=T

3.40 days / 40 &1

4,10 days / 10 T&sT

Correct Answer :-

« 40 days / 40 feoT



81) The most critical resource in a dairy farm is: /

TF GIURATAT &1 (ST B1o)  Fa FAgeaqol HHTE g
1. Capital / t|¢\T~r1°|'

2.Land / ﬂiﬁ

3. Labour / &%

4, Feeding / 3TgR
Correct Answer :-

+ Feeding / 3TTg R

82) The maximum weightage in a scorecard is given to while judging of cattle. /
AN A AT T TAT UF TERAE A HAhas ian Hr & St g

1. body capacity / 2RI &THT

2. frame / Sho

3. udder / AT

4. dairy character / 3¢I T&T0T

Correct Answer :-

o udder/ s

83) The axial skeleton consists of: /

efr ware # AR g &

1. Ulna and radius / 37 WepiTSaahT 3R afg: UhifSaar (3rear 3R Iaw)
2. Skull and vertebra / FRITC 3R HATH (Tahel 3T afes)

3. Patella and sacrum / Siifegert 31K B (Ureeer 3R dha)

4. Femur and tibia / 30T 3R 3idaifaer (BreR iR fefaam)

Correct Answer :-

« Skull and vertebra / FRITC 3R HATh (Ther 3R afcam)

84) The average content of silica in soil is: /
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1. 24%
2.27%
3.31%
4.35%

Correct Answer :-

o 27%

85) The most productive chicken breed for meat production is: /
AW 3cea & faT e 310w scures 7 At awr &

1. Australorp / 3TECaT

2. Minorca / f&afert

3. Brahma / SIgHAT

4, Sussex / THFH

Correct Answer :-

o Sussex / TIFT

86) The material which can be used for packing fruits and vegetables is: /
el AR wfeeral Ft 3% F@ & fav S aerel ggFT 1 a1 G B, 96§

1. Stretch films only / shael difdld (T¢d) e

2. Polypropylene boxes only / hael CICIEIRIECIG CIE2s)
3. All of these / 3T @il

4. Corrugated fibre boards (CFB) only / %ddl =TGR HIEeR a8 (Fl?:[ g I1 HITh)

Correct Answer :-

+ All of these / 3ugerc @il

87) The system of planting in which the plant-to-plant and row-to-row distance are same is
known as: /

duor Y yomeh et die-a-aie s dRE-a-aR # gl W A 839
FEd ¢

Page - 60



2. Square system / d3T JOTTeIl
3. Hexagonal system / q’cﬁfIUT JUTTell
4, Rectangular system / 3TTIdIhT JUTTell

Correct Answer :-

« Square system / 37 YUl

88) The hook region used for Judging cattle is seen towards____ ./

FARAT FY TEAE F AT w0 R S aren gF Rewn_ # 3T @ e 2
1. forelimb / 3I9Ie

2. hind limb / 9=4Iq

3. udder / TdeT (33X)

4. rump / 9&T (feary) ar 9

Correct Answer :-

orump/EID'ST(EF%EIT?I)?JTW

89) The science-based system for the clean milk production is: /

IS QU 3cUIGe oq faeiel 3menfia gorrel 8
1. Occupational Health and Safety (OSH) / SITaAT A TR&T UF TAELY (3THT)

2. International Organization for Standardization (ISO) / WI'@?T HTeThIhIOT HITS

(3TETH3M)
3. Bureau of Indian Standards (BIS) / TRl Hleleh Eﬂﬁ(@'ﬁl’é’ﬂﬂ)

4. Hazard Analysis Critical Control Points (HACCP) / @ddlleh freeivor 3R iR fag=or ﬁ?\;
(TTTHHTT)

Correct Answer :-

« Hazard Analysis Critical Control Points (HACCP) / @cRelTeh TaQelyoT 3R i A=or ﬁ@
(o)

90) The somatic cell count/ml in normal milk should be: /

AT g # FIF Fif¥er dEfesw dw) FEefAeh e ger aifkw
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2.4,00,000
3. 5,00,000
4. 1,00,000

Correct Answer :-

+ 1,00,000

91) The major function of phosphorus is in the formation of: /
PRORE FT GHT F & faAor 7 T
1. Carbohydrates / FTEIgIS3C

2. Enzymes / UFI'IB?:I'
3. Cell wall / i TAfca

4. Cell membrane / SITART @c«él

Correct Answer :-

« Cell membrane / FITART Breell

92) Syngamus trachea infection in chicken causes: /
73f 7 RATw (earwerell) ERF3m FHAT F e B
1. Lameness / Cl?lﬂT

2. Gasping / eIl

3. Diarrhoea / &

4, Greenish faeces / 83 Hcl

Correct Answer :-

« Gasping / &THeIT

93) Who among the following is known as the ‘Father of Green Revolution’ in India? /
fPrafaf@a & ¥ Fa sRa 7 FRa Fifa & FaF F T F =7 F1ar 82

1. ML.S. Swaminathan / TH. TH. TdTHIATAT

2. Norman E. Borlaug / ATdeT § SR
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4. D. Rakesh Mohan / 3T. Thel HAIgaT

Correct Answer :-

« M.S. Swaminathan / TH. TF. TITHATYT

94) CANCELLED

Which of the following is a semen diluent? /
fArafa@d & & Fia-ar i Rues §2
1. Alcohol / TeahlgdT

2. Glycerol / fFereRTer

3. Sucrose / ﬁﬁ?ﬂ’

4. Coconut milk / ATRIeT Gl

Correct Answer :-

« Coconut milk / sTTTRIT E‘EJ’

95) CANCELLED

Which of the following implements is used for micro levelling of the field? /

farafaf@a & & Fla-ar 3vwtor @a F gaH gades F v swAer fFar s 8
1. Harrows / g3 (g9M)

2. Flanker / Foleht

3. Hoe / Sﬁl?»ﬁ'

4. Roller / IS

Correct Answer :-

o Flanker / TFolahl

96) CANCELLED

Blind tillage refers to: /
Tgay Jar$ (semgs A ¥ A ¥
1. Summer ploughing / ITSFRTAA GJ)FI'I%’

Page - 63



3. Hoeing before germination/ﬁgwiul T ugel halel Tellal
4. Primary tillage / ST {HH aoalé

Correct Answer :-

« Hoeing in standing crop rows / T3l Bl &l hdRI H palel dellel
97) CANCELLED

The sixth pair of molars in cattle appears at: /

AARNGT H USRI F TS A # @ &a Bl
1.2.5years /2.5 ay

2.3.5years /3.5 ay

3.2 years /2 ay

4.4.5 years /4.5 Y

Correct Answer :-

« 4.5years/4.5dY

98) CANCELLED

The minimum standing area (sq.m.) for a cow should be: /

wF M & AT @3 g (V) F1 sgeas sEwd (FeAL) g e
1. 0.2-0.4

2.0.3-0.5

3.0.5-0.7

4, 0.8-1.0

Correct Answer :-

- 0.8-1.0

99) CANCELLED
Soil fertility is reduced due to: / ¥

aT &Y 3d4Tar & FRUT &H & 1t Bl
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2. Over irrigation / 318 &S
3. Poor drainage / @S STef foiepraT
4. Imbalanced use of fertilizer / 33T I maﬁi?r 39197

Correct Answer :-

« Imbalanced use of fertilizer / 3d<eh Al 3-11‘:@1%{?[ 39T

100) The poultry meat is NOT a source of: /
FIFC AT 5T 1 I 187 o2

1. High protein / 3= 91T

2. Essential amino acids / 3raeder 3THEAT el

3. Vitamin B complex / fderf@er ot spiecelsa

4, Vitamin C / TderffeT &

Correct Answer :-

« Vitamin C / fderf@sr dr
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